L]

Now for Group A

EA(Y )= 2%(15,000) + .8*(20.000) = 19,000

EA(Un= 2U(15.000) + .8U(20,000)

EAMY)wy= .2[15.00045,000-2,500] + .8[20,000-2,500] = 17,500
EA(Uwr= U(17.500)

The gain from insurance for group A (call it G.LA)
G.LA= EAY)wr. ER(Yha = U(17,500) - [.2U(15,000)+.8U(20,000)]

-
e = —

18 175 1920

As it has been drawn, the utility funcuon G.1LA is slightlly negative so
that those from group A will chose not 1o join the msurance pool.

For Group B

ER(Y)w= B(15000) + .2(20,000) = 16,000

EB{U)yy= .BU{15,000) + .2U{20,000)

EB(Y)wy= B[15,00045,000-2,500] + .2[20,000-2,500] = 17,500
E¥(Ww= SUCITS00) + 2U(17.500) = U(17,500)



